Sample formating using multienumerate

Sometimes we want to typeset the solutions to exercises. This is easy to do using the multienumerate
environment.

Answers to All Exercises

1. Not 2. Linear 3. Not 4. Quadratic
5. Not 6. Linear 7. No; if x = 3, then y = —2.
8. (w1,72) = (2+ t,t) or (s,3s — 6) 9. (w1,22,23) = (24 55 — 3, 5,1)

10. (x1,2,23,24) = (% + gs—i— %t—u,s,t,u) or (&t,u,%—s—&— %t—i— %u)

11. (2,—-1,3) 12. None 13. (2,1,0,1) 14. (0,0,0,0)

We can also enumerate the items using an even-only or odd only counter.

Answers to Even-Numbered Exercises

2. Not 4. Linear 6. Not 8. Quadratic
10. Not 12. Linear 14. No; if z = 3, then y = —2.
16. (21,22) = (2+ §t,t) or (5,35 — 6) 18. (z1,@2,33) = (2+ 25— 3t,5,t)

20. (x1,x2,x3,24) = (% + ger %tfu,s,t,u) or (s,t,u,%fs+ %tJr %u)

22. (2,-1,3) 24. None 26. (2,1,0,1) 28. (0,0,0,0)

Answers to Odd-Numbered Exercises

1. Not 3. Linear 5. Not 7. Quadratic
9. Not 11. Linear 13. No; if x = 3, then y = —2.
15. (z1,22) = (2+ 3t,t) or (s,35 — 6) 17. (w1, m2,23) = (24 55 — 3t, 5, 1)

19. (z1,22,23,24) = (i + %s—k %t—u,s,t,u) or (s,t,u,%—s%— %t—i— %u)

21. (2,-1,3) 23. None 25. (2,1,0,1) 27. (0,0,0,0)

Sometimes we want to create sublists which are enumerated using an alpha counter.

1. Which of the following numbers is the solution of the equation x +3 = T7:

(a) 1 (b) 2 (c) 3 (d) 4
2. The value of log, 8 is:

(a) 1 (b) —1 (c) 3 (d) =3



Answers to All Exercises
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Not 2. Linear
Not 4. Quadratic
Not 6. Linear

(z1,m2) = (2+ 31,1) or (s,3s — 6)
(.’131,372,]}3) = (2 + gs - 3t757t)

($1,$2,$3,$4) = (l + %38—1_ %t_uv‘%tau)
or (s,t,u,%—s—kit—l—zu)

(2,-1,3) 11. None
(2,1,0,1) 13. (0,0,0,0)
Not 15. Linear
Not 17. Quadratic
Not 19. Linear

(x1,22) = (2+ %t,t) or (s,3s —6)
(71,22, 73) = (2 + %8 — 3t,8,1)

(z1, 22,3, 24) = (5 + %s—l— %t—u,s,t,u)
or (s,t,u,%—s—i—it—l—%u)

(2,-1,3) 24. None
(2,1,0,1) 26. (0,0,0,0)
Not 28. Linear
Not 30. Quadratic
Not 32. Linear

33.
34.
35.

36.

38.

(z1,m2) = (2 + 3t,1) or (s,3s — 6)
(x1,29,23) = (24 gs —3t,s,t)

(21, 22,23, 74) = (é + %{5 + 3t —u,s,t,u)
or (s,t,u,i—s—k It + %u)

(2,-1,3) 37. None

(2,1,0,1) 39. (0,0,0,0)

Multiple Choice
1.

Which of the following numbers is the
solution of the equation x +3 = 7:

(a) 1 (b) 2 (c) 3 (d) 4
The value of log, 8 is:
@)1 () -1 (3 (-3

Which of the following numbers is the
solution of the equation z 4+ 3 = T:

(a) 1 (b) 2 ()3  (d) 4
The value of log, 8 is:
@1 () -1 ()3 (d -3

Which of the following numbers is the
solution of the equation z 4+ 3 = T:

@1 (B2 (3 (4
The value of log, 8 is:
@1 () -1 (93 (d -3



